
Addition de Cœurs Doux (J)
Quelle est la valeur de chaque cœur doux?

36 + h = 84 t + 68 = 116

75 + c = 94 r + 35 = 129

51 + g = 117 s + 76 = 154

57 + b = 112 p + 99 = 192

60 + e = 158 m + 48 = 91

88 + i = 120 n + 51 = 94

74 + j = 163 k + 93 = 132

55 + a = 89 q + 31 = 95

97 + d = 128 l + 44 = 97

94 + f = 186 o + 79 = 172
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Addition de Cœurs Doux (J) Réponses
Quelle est la valeur de chaque cœur doux?

36 + 48 = 84 48 + 68 = 116

75 + 19 = 94 94 + 35 = 129

51 + 66 = 117 78 + 76 = 154

57 + 55 = 112 93 + 99 = 192

60 + 98 = 158 43 + 48 = 91

88 + 32 = 120 43 + 51 = 94

74 + 89 = 163 39 + 93 = 132

55 + 34 = 89 64 + 31 = 95

97 + 31 = 128 53 + 44 = 97

94 + 92 = 186 93 + 79 = 172
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